Quiz - may 2024

1. MCMA twinning occurs if division occurs
A) before 24 hrs

B) 1-4 days

C)4-8 days

D) >8 days. Ans: D

2.what is the most important cause of perinatal mortality in twins?
A) prematurity

B) FGR

C)TTTS

D) single fetal demise. Ans:A

3.drug used in STOPPIT trail is

A) progesterone

B) steroids

C)mgso4

D) oxytocin. Ans B

4.according to hellin's law,the chances of twins in pregnancy are
A) 1in 60

B)1in 70

C)1in 80

D) 1in 100. Ans: C

5. Important predictor of neurological outcome of the survivor after death of co twin is
A)chorionicity
B) gestational age at time of demise
C) malformations present in deceased twin
D)time between demise and delivery
Ans: A

6.the most common fetal congenital anomaly is
A)down syndrome

B)cardiac defect

C)Spina bifida

D) cleft lip/ palate. Ans :B

7.in twin reversed arterial perfusion donor is at risk of cardiomegaly and high output heart failure
A) true. B) false
Ans: A



8.for twin discordance ,the differences in the two twins should be 25% with the smaller twin as
index.
A) true. B) false

Ans : B

9.fetal prognosis depends more on chorionicity and not zygosity
A) true. B) false
Ans: A

10.monozygotic twins are always monochorionic
A) true. B)false
Ans:B



